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35.83
Eivar F'(x)=f(x)

Eniong mapatnpovpe Ot [1+(X2 +1) F(X)], = 2XF(X)+(X2 +1)f (x)

Onorte

1+(x2 +1) F(x)= 2xF(x)+(x2 +1)f (x) :1+(x2 +1)F(x) = [1+(x2 +1) F(x)], =
:>1+(X2 +1) F(x)=ce* (1) 6mov c: otabepog

Axoun

Oétoupe x=0

1+(x2 +1)F(x) = 2xF(x)+(x2 +1)f (x) =

£(0)=L

=1+(0 +1)F(0)=2:0-F(0)+(0° +1)f (0) =
=F(0)=0

"Etot

0étovpe x=0 F(0)=0

1) = :>1+(02+1)F(O):ce° = c=1 (2
Omndte

(2) ex -1 napaywyiCovpe

(1)=1+(X* +1)F(x) =€ = F(x) =

x2+1

BT z)l()2+(1e)21)2x:> £(x)=




